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Question Number : 1 Question Id : 146587651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Maharajabandh Lake is situated in ________.
Options :
1465872601.  Raipur
1465872602.  Korba
1465872603.  Ambikapur
1465872604.  Arang
   
Question Number : 1 Question Id : 146587651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
महाराज बंद तालाब _________ में स्थित है।
Options :
1465872601.  रायपुर
1465872602.  कोरबा
1465872603.  अंबिकापुर



1465872604.  आरंग
   
Question Number : 2 Question Id : 146587652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The _________ river originates from the northern part of the plateau Mainpat of Surguja district.
Options :
1465872605.  Borai
1465872606.  Doodh
1465872607.  Mand
1465872608.  Hasdon
   
Question Number : 2 Question Id : 146587652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
_________ नदी का उद्गम सरगुजा जिले के  मैनपाट पठार के  उत्तरी भाग से हुआ है।
Options :
1465872605.  बोराई
1465872606.  दू ध
1465872607.  मांड
1465872608.  हसडन
   
Question Number : 3 Question Id : 146587653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Koi revolt in Bastar region was against:
Options :
1465872609.  Imposition of ban on human sacrifice by the British government
1465872610.  Lack of money and food in the hands of the common people
1465872611.  The decision to impose heavy taxes by the British government
1465872612.  The decision of the British to offer contracts for cutting of Sal trees to people outside the region of Bastar



   
Question Number : 3 Question Id : 146587653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
बस्तर क्षेत्र में कोई विद्रोह (Koi revolt) _________ के  विरुद्ध हुआ था।
Options :
1465872609.  ब्रिटिश सरकार द्वारा मानव बलि पर प्रतिबंध लगाने
1465872610.  आम लोगों के  पास पैसे और भोजन की कमी
1465872611.  ब्रिटिश सरकार द्वारा भारी कर लगाने के  निर्णय
1465872612.  अंग्रेजों के  बस्तर क्षेत्र के  बाहर के  लोगों को साल के  पेड़ काटने के  अनुबंध की पेशकश करने के  निर्णय
   
Question Number : 4 Question Id : 146587654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Halba rebellion was the first documented rebellion against the British and Marathas in:
Options :
1465872613.  Dantewada
1465872614.  Bastar
1465872615.  Durg
1465872616.  Kondagaon
   
Question Number : 4 Question Id : 146587654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
हल्बा विद्रोह, _________ में अंग्रेजों और मराठों के  विरुद्ध पहला प्रलेखित विद्रोह था।
Options :
1465872613.  दंतेवाड़ा
1465872614.  बस्तर
1465872615.  दुर्ग
1465872616.  कोंडागांव
   



Question Number : 5 Question Id : 146587655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The post of _________ in revenue system of Chhattisgarh was abolished by East India Company when they initially controlled Chhattisgarh.
Options :
1465872617.  Goutia
1465872618.  Patel
1465872619.  Amir
1465872620.  Pandya
   
Question Number : 5 Question Id : 146587655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ की राजस्व प्रणाली में ________ का पद, ईस्ट इंडिया कं पनी द्वारा उसी समय समाप्त कर दिया गया था, जब उन्होंने शुरू में छत्तीसगढ़ को नियंत्रण में
लिया था।
Options :
1465872617.  गौटिया
1465872618.  पटेल
1465872619.  अमीर
1465872620.  पंड्या/पांड्या
   
Question Number : 6 Question Id : 146587656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Tertali folk dance is performed by which of the following tribes of Chhattisgarh?
Options :
1465872621.  Bhil
1465872622.  Dhanwar
1465872623.  Kamar
1465872624.  Gond
   
Question Number : 6 Question Id : 146587656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ की निम्नलिखित में से कौन सी जनजाति तेरताली लोक नृत्य करती है?
Options :
1465872621.  भील
1465872622.  धनवार
1465872623.  कमार
1465872624.  गोंड
   
Question Number : 7 Question Id : 146587657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the percentage of the scheduled tribes in Chhattisgarh compared to entire India, as per the census of 2011?
Options :
1465872625.  15.3%
1465872626.  10.1%
1465872627.  4.5%
1465872628.  7.5%
   
Question Number : 7 Question Id : 146587657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
2011 की जनगणना के  अनुसार, पूरे  भारत की तुलना में छत्तीसगढ़ में अनुसूचित जनजातियों का प्रतिशत कितना है?
Options :
1465872625.  15.3%
1465872626.  10.1%
1465872627.  4.5%
1465872628.  7.5%
   
Question Number : 8 Question Id : 146587658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Name the folk dance of Chhattisgarh in which the dancers form a circle by placing their arms on the waist of the adjacent dancer and dance in a
rhythmic manner.
Options :
1465872629.  Muria dance
1465872630.  Karma dance
1465872631.  Tertali dance
1465872632.  Kaksar dance
   
Question Number : 8 Question Id : 146587658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  उस लोक नृत्य का नाम बताइए, जिसमें नर्तक सन्निकट नर्तक की कमर पर हाथ रखकर एक वृत्त बनाते हैं और लयबद्ध तरीके  से नृत्य करते हैं।
Options :
1465872629.  मुरिया नृत्य
1465872630.  करमा नृत्य
1465872631.  तेरताली नृत्य
1465872632.  ककसार नृत्य
   
Question Number : 9 Question Id : 146587659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In which district of Chhattisgarh is the famous Chandrahasini Devi temple situated?
Options :
1465872633.  Raigarh
1465872634.  Baloda Bazar
1465872635.  Bilaspur
1465872636.  Janjgir–Champa
   
Question Number : 9 Question Id : 146587659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
प्रसिद्ध चंद्रहासिनी देवी मंदिर छत्तीसगढ़ के  किस जिले में स्थित है?



Options :
1465872633.  रायगढ़
1465872634.  बलौदा बाज़ार
1465872635.  बिलासपुर
1465872636.  जांजगीर-चंपा
   
Question Number : 10 Question Id : 146587660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In which district of Chhattisgarh is Asia's second largest church of 'Our Lady of the Rosary' situated?
Options :
1465872637.  Jashpur
1465872638.  Sarguja
1465872639.  Raigarh
1465872640.  Janjgir-Champa
   
Question Number : 10 Question Id : 146587660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  किस जिले में एशिया का दू सरा सबसे बड़ा चर्च 'अवर लेडी ऑफ द रोजरी (Our Lady of the Rosary)' स्थित है?
Options :
1465872637.  जशपुर
1465872638.  सरगुजा
1465872639.  रायगढ़
1465872640.  जांजगीर-चंपा
   
Question Number : 11 Question Id : 146587661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, no person shall be eligible for seeking election as an office-bearer of a Panchayat from
more than ________ ward of constituency as the case may be.



Options :
1465872641.  One
1465872642.  Two
1465872643.  Three
1465872644.  Four
   
Question Number : 11 Question Id : 146587661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ पंचायत राज अधिनियम, 1993 के  तहत, कोई भी व्यक्ति किसी भी मामले में निर्वाचन क्षेत्र के  ______ से अधिक वार्ड से पंचायत के  पदाधिकारी के
रूप में चुनाव के  लिए पात्र नहीं  होगा।
Options :
1465872641.  एक
1465872642.  दो
1465872643.  तीन
1465872644.  चार
   
Question Number : 12 Question Id : 146587662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, where the total population of Scheduled Castes and Scheduled Tribes in the Block is
less than fifty percent, ________ percent of seats of Sarpanchas of Gram Panchayats within the Block shall be reserved for Other Backward
Classes.
Options :
1465872645.  10
1465872646.  20
1465872647.  25
1465872648.  30
   
Question Number : 12 Question Id : 146587662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



छत्तीसगढ़ पंचायत राज अधिनियम, 1993 के  तहत, जहां ब्लॉक में अनुसूचित जाति और अनुसूचित जनजाति की कु ल जनसंख्या पचास प्रतिशत से कम है, वहां
ब्लॉक के  अंतर्गत ग्राम पंचायतों के  सरपंचों की _______ प्रतिशत सीटें अन्य पिछड़ा वर्ग के  लिए आरक्षित होंगी।
Options :
1465872645.  10
1465872646.  20
1465872647.  25
1465872648.  30
   
Question Number : 13 Question Id : 146587663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, first meeting of the Gram Panchayat shall he held within ________ days of the date of
the publication under Section 19. 
Options :
1465872649.  15
1465872650.  20
1465872651.  25
1465872652.  30
   
Question Number : 13 Question Id : 146587663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ पंचायत राज अधिनियम, 1993 के  तहत ग्राम पंचायत की पहली बैठक धारा 19 के  तहत प्रकाशन की तिथि से _______ दिनों के  भीतर आयोजित की
जाएगी।
Options :
1465872649.  15
1465872650.  20
1465872651.  25
1465872652.  30
   
Question Number : 14 Question Id : 146587664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, __________ of the Sarpanchas in the territorial area of the Janpad Panchayat by
rotation for a period of one year as the prescribed authority may determine by drawing lots.
Options :
1465872653.  Half
1465872654.  One Fourth
1465872655.  One-fifth
1465872656.  One tenth
   
Question Number : 14 Question Id : 146587664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ पंचायत राज अधिनियम, 1993 के  तहत, जनपद पंचायत के  अधीनस्थ क्षेत्र में _________ सरपंचों को एक वर्ष की अवधि के  लिए चक्रानुक्रम से, जैसा
कि निर्धारित प्राधिकारी लाट निकालकर निर्धारित कर सकते हैं।
Options :
1465872653.  आधे
1465872654.  एक चौथाई
1465872655.  1/5
1465872656.  1/10
   
Question Number : 15 Question Id : 146587665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
As of 2015, What is the rank of Chhattisgarh state in India in terms of providing drinking water through solar powered pumps?
Options :
1465872657.  First
1465872658.  Second
1465872659.  Third
1465872660.  Fourth
   
Question Number : 15 Question Id : 146587665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
2015 तक, सौर ऊर्जा से चलने वाले पंपों के  माध्यम से पेयजल उपलब्ध कराने के  मामले में भारत में छत्तीसगढ़ राज्य का स्थान क्या है?
Options :
1465872657.  पहला
1465872658.  दू सरा
1465872659.  तीसरा
1465872660.  चौथा
   
Question Number : 16 Question Id : 146587666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Chhattisgarh Government has set up a ‘Waste to Energy’ power generation plant in which district in 2020?
Options :
1465872661.  Raipur
1465872662.  Bilaspur
1465872663.  Durg
1465872664.  Korba
   
Question Number : 16 Question Id : 146587666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ सरकार ने 2020 में किस जिले में 'अपशिष्ट से ऊर्जा' विद्यु त उत्पादन संयंत्र स्थापित किया?
Options :
1465872661.  रायपुर
1465872662.  बिलासपुर
1465872663.  दुर्ग
1465872664.  कोरबा
   
Question Number : 17 Question Id : 146587667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



In which district is the "Eklama iron ore complex" located?
Options :
1465872665.  Kanker
1465872666.  Bilaspur
1465872667.  Kabirdham
1465872668.  Korba
   
Question Number : 17 Question Id : 146587667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
"एकलामा लौह अयस्क परिसर/संकु ल" किस जिले में स्थित है?
Options :
1465872665.  कांके र
1465872666.  बिलासपुर
1465872667.  कबीरधाम
1465872668.  कोरबा
   
Question Number : 18 Question Id : 146587668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Who among the following served as the first Governor of Chhattisgarh state?
Options :
1465872669.  Ekkadu Srinivasan Lakshmi Narasimhan
1465872670.  Anusuiya Uikey
1465872671.  Dinesh Nandan Sahay
1465872672.  Krishna Mohan Seth
   
Question Number : 18 Question Id : 146587668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से किसने छत्तीसगढ़ राज्य के  पहले राज्यपाल के  रूप में कार्य किया?
Options :



1465872669.  एक्कादु श्रीनिवासन लक्ष्मी नरसिम्हन
1465872670.  अनुसुइया उइके
1465872671.  दिनेश नंदन सहाय
1465872672.  कृ ष्ण मोहन सेठ
   
Question Number : 19 Question Id : 146587669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Who among the following spearheaded the first war of Independence in Chhattisgarh in 1857?

Options :
1465872673.  Vir Narayan Singh
1465872674.  Ravi Shankar Shukla
1465872675.  Sundarlal Sharma
1465872676.  Madhav Rao
   
Question Number : 19 Question Id : 146587669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से किस व्‍यक्ति ने 1857 में छत्तीसगढ़ में स्वतंत्रता के  पहले युद्ध का नेतृत्‍व किया?
Options :
1465872673.  वीर नारायण सिंह
1465872674.  रवि शंकर शुक्ला
1465872675.  सुंदरलाल शर्मा
1465872676.  माधव राव
   
Question Number : 20 Question Id : 146587670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Who among the following is the Director of Mineral Resources Department of Chhattisgarh as on 2021?
Options :
1465872677.  Jai Prakash Maurya



1465872678.  Kundan Banjare
1465872679.  Anurag Diwan
1465872680.  Ajeet Vasant
   
Question Number : 20 Question Id : 146587670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन 2021 तक छत्तीसगढ़ के  खनिज संसाधन विभाग के  निदेशक हैं?
Options :
1465872677.  जय प्रकाश मौर्य
1465872678.  कुं दन बंजारे
1465872679.  अनुराग दीवान
1465872680.  अजीत वसंती
   
Question Number : 21 Question Id : 146587671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the literary work of Abhishek Agarwal of Chhattisgarh?
Options :
1465872681.  Sorry for loving you
1465872682.  Forgetting the unforgettable
1465872683.  Ek Chahat Adhuri Si
1465872684.  Family Wisdom
   
Question Number : 21 Question Id : 146587671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सी छत्तीसगढ़ के  अभिषेक अग्रवाल की साहित्य कृ ति नहीं  है?
Options :
1465872681.  सॉरी फॉर लविंग यू
1465872682.  फॉर्गेटिंग द अन्फॉर्गेटेबल



1465872683.  एक चाहत अधूरी सी
1465872684.  फ़ै मिली विज़डम
   
Question Number : 22 Question Id : 146587672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which district of Chhattisgarh has largest tribal population?
Options :
1465872685.  Durg
1465872686.  Bilaspur
1465872687.  Dhantewada
1465872688.  Bastar
   
Question Number : 22 Question Id : 146587672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  निम्नलिखित में से किस जिले में सबसे अधिक आदिवासी आबादी है?
Options :
1465872685.  दुर्ग
1465872686.  बिलासपुर
1465872687.  दंतेवाड़ा
1465872688.  बस्तर
   
Question Number : 23 Question Id : 146587673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In which district of Chhattisgarh is the Nandanvan Jungle safari is located?
Options :
1465872689.  Durg
1465872690.  Bhilal
1465872691.  Koriya



1465872692.  Naya Raipur
   
Question Number : 23 Question Id : 146587673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
नंदनवन जंगल सफारी छत्तीसगढ़ के  निम्नलिखित में से किस जिले में स्थित है?
Options :
1465872689.  दुर्ग
1465872690.  भिलाई
1465872691.  कोरिया
1465872692.  नया रायपुर
   
Question Number : 24 Question Id : 146587674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following has become the 28th district of Chhattisgarh?
Options :
1465872693.  Manendragarh
1465872694.  Mohla-Manpur
1465872695.  Gaurela-Pendra-Marwahi
1465872696.  Sarangarh-Bilaigarh
   
Question Number : 24 Question Id : 146587674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन सा छत्तीसगढ़ का 28वां जिला बन गया है?
Options :
1465872693.  मनेन्द्रगढ़
1465872694.  मोहला-मानपुर
1465872695.  गौरेला-पेंड्रा -मरवाही
1465872696.  सारंगढ़-बिलाईगढ़



   
Question Number : 25 Question Id : 146587675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the total number of seats won by Bahujan Samaj party (BSP) in 2018 assembly elections in the Chhattisgarh state?
Options :
1465872697.  0
1465872698.  2
1465872699.  5
1465872700.  9
   
Question Number : 25 Question Id : 146587675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ राज्य में 2018 के  विधानसभा चुनावों में बहुजन समाज पार्टी (BSP) द्वारा जीती गई सीटों की कु ल संख्या कितनी है?
Options :
1465872697.  0
1465872698.  2
1465872699.  5
1465872700.  9
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Question Number : 26 Question Id : 146587676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The output generated through VDU or monitor are known as:
Options :
1465872701.  Soft copy
1465872702.  Hard copy
1465872703.  Virtual copy
1465872704.  Imaginary copy
   
Question Number : 26 Question Id : 146587676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
VDU या मॉनिटर से उत्पन्न आउटपुट को ________ कहा जाता है।
Options :
1465872701.  सॉफ्ट कॉपी (Soft copy)
1465872702.  हार्ड कॉपी (Hard copy)
1465872703.  वर्चुअल कॉपी (Virtual copy)
1465872704.  इमेजिनरी कॉपी (Imaginary copy)
   
Question Number : 27 Question Id : 146587677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following uses nozzles that spray ink onto the paper to get printout of a document?
Options :
1465872705.  Laser printer
1465872706.  Inkjet printer
1465872707.  Dot-matrix printer
1465872708.  VDU



   
Question Number : 27 Question Id : 146587677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
डॉक्यूमेंट (दस्तावेज़) का प्रिंटआउट प्राप्त करने के  लिए निम्नलिखित में से किसमें नोजल प्रयुक्त होता है, जो कागज पर स्याही स्प्रे करता है?
Options :
1465872705.  लेज़र प्रिंटर
1465872706.  इंकजेट प्रिंटर
1465872707.  डॉट-मैट्रि क्स प्रिंटर
1465872708.  VDU
   
Question Number : 28 Question Id : 146587678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(i) Printers are used for producing the hard copy output on paper.
(ii) Laser printer fuses ink to the paper by heat.
Options :
1465872709.  Only (i)
1465872710.  Only (ii)
1465872711.  Both (i) and (ii)
1465872712.  Neither (i) nor (ii)
   
Question Number : 28 Question Id : 146587678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन से कथन सत्य हैं?

(i) प्रिंटरों का उपयोग कागज पर हार्ड कॉपी आउटपुट तैयार करने के  लिए होता है।
(ii) लेजर प्रिंटर, ऊष्मा द्वारा स्याही को कागज पर फ्यूज करता है।
Options :
1465872709.  के वल (i)



1465872710.  के वल (ii)
1465872711.  (i) और (ii) दोनों
1465872712.  न तो (i) न ही (ii)
   
Question Number : 29 Question Id : 146587679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is FALSE?
Options :
1465872713.  Hard disk is also called secondary memory.
1465872714.  Hard disk is a sequential access memory.
1465872715.  Hard disk is a random access memory.
1465872716.  Hard disk consists of multiple disks that are stacked together as a disk pack.
   
Question Number : 29 Question Id : 146587679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा कथन असत्य है?
Options :
1465872713.  हार्ड डिस्क को द्वितीयक (secondary) मेमोरी भी कहा जाता है।
1465872714.  हार्ड डिस्क, सीक्वें शियल एक्सेस मेमोरी है।
1465872715.  हार्ड डिस्क, रैंडम एक्सेस मेमोरी है।
1465872716.  हार्ड डिस्क में कई डिस्क होते हैं, जो डिस्क पैक के  रूप में एक साथ स्टैक्ड होते हैं।
   
Question Number : 30 Question Id : 146587680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The size of a CPU register is usually expressed in the number of _________ it can store.
Options :
1465872717.  Bits
1465872718.  Characters



1465872719.  Decimal digits
1465872720.  Octal digits
   
Question Number : 30 Question Id : 146587680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
CPU रजिस्टर के  आकार (Size) को सामान्यतः  _______ की संख्या में व्यक्त किया जाता है, जिन्हें यह स्टोर कर सकता है।
Options :
1465872717.  बिट्स (Bits)
1465872718.  संप्रतीकों (Characters)
1465872719.  दशमलव अंकों (Decimal digits)
1465872720.  अष्टक अंकों (Octal digits )
   
Question Number : 31 Question Id : 146587681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the following statements?
(i) CU of a CPU is the place where actual execution of instructions takes place during data processing.
(ii) ALU of a CPU is the place where actual execution of instructions takes place during data processing.
Options :
1465872721.  (i) – TRUE; (ii) – TRUE
1465872722.  (i) – TRUE; (ii) – FALSE
1465872723.  (i) – FALSE; (ii) – TRUE
1465872724.  (i) – FALSE; (ii) – FALSE
   
Question Number : 31 Question Id : 146587681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा विकल्प निम्नलिखित कथनों की सत्यता का सर्वोत्तम वर्णन करता है?

(i) CPU का CU वह स्थान है, जहां डेटा प्रोसेसिंग के  दौरान निर्देशों का वास्तविक निष्पादन (actual execution) होता है।
(ii) CPU का ALU वह स्थान है, जहां डेटा प्रोसेसिंग के  दौरान निर्देशों का वास्तविक निष्पादन होता है।



Options :
1465872721.  (i) – सत्य; (ii) – सत्य
1465872722.  (i) – सत्य; (ii) – असत्य
1465872723.  (i) – असत्य; (ii) – सत्य
1465872724.  (i) – असत्य; (ii) – असत्य
   
Question Number : 32 Question Id : 146587682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
React is a _____ library created by Facebook.
Options :
1465872725.  JavaScript
1465872726.  VBScript
1465872727.  Python
1465872728.  ASP.net
   
Question Number : 32 Question Id : 146587682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
रिएक्ट (React), फे सबुक द्वारा निर्मित ______ लाइब्रेरी है।
Options :
1465872725.  JavaScript
1465872726.  VBScript
1465872727.  Python
1465872728.  ASP.net
   
Question Number : 33 Question Id : 146587683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872729.  a – ii; b – i; c – iv; d – iii
1465872730.  a – i; b – ii; c – iv; d – iii
1465872731.  a – ii; b – iii; c – iv; d – I
1465872732.  a – ii; b – i; c – iii; d – iv
   
Question Number : 33 Question Id : 146587683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872729.  a – ii; b – i; c – iv; d – iii
1465872730.  a – i; b – ii; c – iv; d – iii
1465872731.  a – ii; b – iii; c – iv; d – I



1465872732.  a – ii; b – i; c – iii; d – iv
   
Question Number : 34 Question Id : 146587684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the extension of ASP.NET source code file?
Options :
1465872733.  .aspx
1465872734.  .asp
1465872735.  .as
1465872736.  .pyc
   
Question Number : 34 Question Id : 146587684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
ASP.NET स्रोत कोड फ़ाइल का एक्सटेंशन क्या है?
Options :
1465872733.  .aspx
1465872734.  .asp
1465872735.  .as
1465872736.  .pyc
   
Question Number : 35 Question Id : 146587685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Apache Cassandra open source is written in _____ language.
Options :
1465872737.  Java
1465872738.  Visual Basic 6.0
1465872739.  C++
1465872740.  Python
   



Question Number : 35 Question Id : 146587685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
अपाचे कै सेंड्रा  ओपन सोर्स ____ भाषा (लैंग्वेज) में लिखा गया है।
Options :
1465872737.  जावा (Java)
1465872738.  विजुअल बेसिक 6.0
1465872739.  C++
1465872740.  पाइथन
   
Question Number : 36 Question Id : 146587686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872741.  a – ii; b – i; c – iv; d – iii
1465872742.  a – i; b – ii; c – iv; d - iii
1465872743.  a – ii; b - iii; c – iv; d – i
1465872744.  a – ii; b – iv; c – i; d – iii
   
Question Number : 36 Question Id : 146587686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872741.  a – ii; b – i; c – iv; d – iii
1465872742.  a – i; b – ii; c – iv; d - iii
1465872743.  a – ii; b - iii; c – iv; d – i
1465872744.  a – ii; b – iv; c – i; d – iii
   
Question Number : 37 Question Id : 146587687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Public key cryptography requires _____ keys
Options :
1465872745.  2
1465872746.  1
1465872747.  3
1465872748.  4
   
Question Number : 37 Question Id : 146587687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
पब्लिक की क्रिप्टोग्राफी (Public key cryptography) में ______ कुं जी की आवश्यकता होती है।



Options :
1465872745.  2
1465872746.  1
1465872747.  3
1465872748.  4
   
Question Number : 38 Question Id : 146587688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is denial of service attack?
Options :
1465872749.  Flood attack
1465872750.  Encryption
1465872751.  Eavesdropping
1465872752.  Interception
   
Question Number : 38 Question Id : 146587688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा डिनायल ऑफ सर्विस अटैक (denial-of-service attack) है?
Options :
1465872749.  फ्लड अटैक (Flood attack)
1465872750.  एन्क्रिप्शन
1465872751.  ईव्सड्रॉ पिंग (Eavesdropping)
1465872752.  इंटरसेप्शन
   
Question Number : 39 Question Id : 146587689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
For efficiency, a DNS server builds a cache of recently used domain names; with an attack called _______, attackers try to insert inaccurate
entries into that cache so that future requests are redirected to an address the attacker has chosen.
Options :



1465872753.  DNS poisoning
1465872754.  DNS tracking
1465872755.  Eavesdropping
1465872756.  Masquerading
   
Question Number : 39 Question Id : 146587689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
दक्षता के  लिए, DNS सर्वर हाल ही में उपयोग किए गए डोमेन नामों का कै श बनाता है; _______ नामक अटैक के  साथ, अटैकर उस कै श में गलत प्रविष्टियां
डालने का प्रयास करते हैं, ताकि भावी अनुरोध अटैकरों द्वारा चुने गए एड्रे स पर पुनर्निर्दे शित हो जाएं ।
Options :
1465872753.  DNS पॉइजनिंग
1465872754.  DNS ट्रै  किं ग
1465872755.  ईव्ससड्रॉ पिंग (Eavesdropping)
1465872756.  मास्करे डिंग (Masquerading)
   
Question Number : 40 Question Id : 146587690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Full form of DHCP is ______.
Options :
1465872757.  Dynamic Host Configuration Protocol
1465872758.  Dynamic Host Control Protocol
1465872759.  Dynamic Host Configuration Pair
1465872760.  Double Host Configuration Protocol
   
Question Number : 40 Question Id : 146587690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
DHCP का पूर्ण रूप ___________ है।
Options :



1465872757.  Dynamic Host Configuration Protocol (डायनामिक होस्ट कॉन्फ़िगरेशन प्रोटोकॉल)
1465872758.  Dynamic Host Control Protocol (डायनामिक होस्ट कं ट्रो ल प्रोटोकॉल)
1465872759.  Dynamic Host Configuration Pair (डायनामिक होस्ट कॉन्फ़िगरेशन पेअर)
1465872760.  Double Host Configuration Protocol (डबल होस्ट कॉन्फ़िगरेशन प्रोटोकॉल)
   
Question Number : 41 Question Id : 146587691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
___________ is Peer to Peer media sharing tool.
Options :
1465872761.  BitTorrent
1465872762.  iMovie
1465872763.  Quicktime
1465872764.  Rapid Miner
   
Question Number : 41 Question Id : 146587691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
________, पीयर टू  पीयर मीडिया शेयरिंग टू ल है।
Options :
1465872761.  बिटटोरेंट (BitTorrent)
1465872762.  आईमूवी (iMovie)
1465872763.  क्विकटाइम (Quicktime)
1465872764.  रै पिड माइनर (Rapid Miner)
   
Question Number : 42 Question Id : 146587692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
_______ is not a typical UDP application.
Options :
1465872765.  VoIP



1465872766.  Simple Network Management Protocol
1465872767.  DHCP
1465872768.  ping
   
Question Number : 42 Question Id : 146587692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
_______ एक विशिष्ट यूडीपी (UDP) एप्लिके शन नहीं  है।
Options :
1465872765.  VoIP
1465872766.  सिंपल नेटवर्क  मैनेजमेंट प्रोटोकॉल (Simple Network Management Protocol)
1465872767.  DHCP
1465872768.  पिंग (ping)
   
Question Number : 43 Question Id : 146587693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Software which is used to convert assembly language and high-level language programs into machine language is known as _________.
Options :
1465872769.  Utilities software
1465872770.  Operating system
1465872771.  Language processor
1465872772.  Package
   
Question Number : 43 Question Id : 146587693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
असेंबली लैंग्‍वेज और हाई-लेवल लैंग्‍वेज प्रोग्रामों को मशीन लैंग्वेज में बदलने के  लिए निम्न में से किस सॉफ्टवेयर का उपयोग किया जाता है?
Options :
1465872769.  यूटिलिटी सॉफ्टवेयर
1465872770.  ऑपरे टिंग सिस्‍टम



1465872771.  लैंग्‍वेज प्रोसेसर
1465872772.  पैके ज
   
Question Number : 44 Question Id : 146587694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If the size of unsigned int data type in a machine is 2 bytes, then which among the following is a valid unsigned int value?
Options :
1465872773.  65536
1465872774.  65535
1465872775.  65537
1465872776.  -32768
   
Question Number : 44 Question Id : 146587694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
यदि एक मशीन में अनसाइन्‍ड इंट डेटा टाइप (unsigned int data type) का आकार 2 बाइट है, तो निम्नलिखित में से कौन सा मान्य अनसाइन्‍ड इंट वैल्यू
(unsigned int value) होगा?
Options :
1465872773.  65536
1465872774.  65535
1465872775.  65537
1465872776.  -32768
   
Question Number : 45 Question Id : 146587695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872777.  A – 1; B – 2; C – 3; D - 4
1465872778.  A – 3; B – 1; C – 4; D - 2
1465872779.  A – 1; B – 3; C – 4; D - 2
1465872780.  A – 3; B – 2; C – 1; D - 4
   
Question Number : 45 Question Id : 146587695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872777.  A – 1; B – 2; C – 3; D - 4
1465872778.  A – 3; B – 1; C – 4; D - 2
1465872779.  A – 1; B – 3; C – 4; D - 2
1465872780.  A – 3; B – 2; C – 1; D - 4
   
Question Number : 46 Question Id : 146587696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is a valid name of an identifier in C programming language?
Options :
1465872781.  for
1465872782.  return
1465872783.  default
1465872784.  roll no
   
Question Number : 46 Question Id : 146587696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
प्रोग्रामिंग लैंग्‍वेज C में, निम्नलिखित में से कौन सा आइडेंटीफायर का एक वैध नाम है?
Options :
1465872781.  for
1465872782.  return
1465872783.  default
1465872784.  roll no
   
Question Number : 47 Question Id : 146587697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465872785.  0
1465872786.  1
1465872787.  -1
1465872788.  2.5
   
Question Number : 47 Question Id : 146587697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465872785.  0
1465872786.  1
1465872787.  –1
1465872788.  2.5
   
Question Number : 48 Question Id : 146587698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If the size of unsigned int data type in a machine is 2 bytes, then unsigned int data type has a limit in the range of __________.
Options :
1465872789.  0 to 32768
1465872790.  0 to 32767
1465872791.  0 to 65535
1465872792.  0 to 65536
   
Question Number : 48 Question Id : 146587698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
यदि एक मशीन में अनसाइन्‍ड इंट डेटा टाइप (unsigned int data type) का आकार 2 बाइट है, तो अनसाइन्‍ड इंट डेटा टाइप की लिमिट रेंज क्या होगी?
Options :
1465872789.  0 से 32768
1465872790.  0 से 32767



1465872791.  0 से 65535
1465872792.  0 से 65536
   
Question Number : 49 Question Id : 146587699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Unlike humans, computers can understand language of only 0s and1s. A program written in 0s and 1s is called __________.
Options :
1465872793.  Machine language program
1465872794.  Symbolic language program
1465872795.  Assembly Language Program
1465872796.  Zero level language program
   
Question Number : 49 Question Id : 146587699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
मनुष्य के  विपरीत कं प्यूटर के वल 0s और 1s की भाषा को समझता है। 0s और 1s में लिखा हुआ प्रोग्राम क्या कहलाता है?
Options :
1465872793.  मशीन लैंग्‍वेज प्रोग्राम
1465872794.  सिंबोलिक लैंग्‍वेज प्रोग्राम
1465872795.  असेंबली लैंग्‍वेज प्रोग्राम
1465872796.  ज़ीरो लेवल लैंग्‍वेज प्रोग्राम
   
Question Number : 50 Question Id : 146587700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In computer networks a _______ defines the format and the order of messages exchanged between two or more communicating entities, as well
as the actions taken on the transmission and/or receipt of a message or other event
Options :
1465872797.  Procedure.
1465872798.  Parameter
1465872799.  Protocol



1465872800.  Process
   
Question Number : 50 Question Id : 146587700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
कं प्यूटर नेटवर्क्स में, ________ दो या अधिक संचार संस्थाओं के  बीच भेजे जाने वाले संदेशों का प्रारूप और क्रम निर्धारित करता है, तथा साथ ही साथ संदेश को
प्रेषित करने या प्राप्‍त करने या अन्‍य गतिविधि के  संदर्भ में कार्यवाही भी करता है।
Options :
1465872797.  प्रोसीजर (procedure)
1465872798.  पैरामीटर (parameter)
1465872799.  प्रोटोकॉल (protocol)
1465872800.  प्रॉसेस (process)


